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QUESTION 1

Which load balancing method should an administrator configure so that all requests coming from a specified network
are sent to the same server?

A. Domain Hash

B. Source IP Hash

C. Destination IP Hash

D. Source IP/Destination IP Hash

Correct Answer: B

QUESTION 2

A network administrator wants to ensure that connection multiplexing is enabled for all client connections that hit a
virtual server. Which service type should the administrator select to enable connection multiplexing?

A. SSL
B. FTP
C.TCP
D. HTTP

Correct Answer: D

QUESTION 3

Which page is displayed to the user if a catch-all policy is NOT defined on a content switching virtual server configured
on the NetScaler?

A. Users get an HTTP/1/.1 Error.

B. Users get an Access Denied Page.

C. The policy with the lowest priority gets evaluated.

D. Users are redirected to the page configured in the redirectURL parameter of the CSV server.

Correct Answer: A

QUESTION 4

Scenario: An administrator needs to configure load balancing for a web farm so that traffic will NOT be dropped when
the virtual server is marked down. Route Health Injection (RHI) and GSLB are NOT configured in this environment.
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The administrator can configure or so that it will receive traffic when the virtual server is
marked down. (Choose the two options that correctly complete the sentence.)

A. a redirect URL string

B. another NetScaler system

C. the name of a backup virtual server

D. the node ID of the secondary in the HA pair

Correct Answer: AC

QUESTION 5

An administrator has executed the following commands: enable ns feature Ib add service s1 1.1.1.1 HTTP 80 add
service s2 1.1.1.2 HTTP 80 add |b vserver vs1 HTTP 1.1.1.3 80 However, the administrator notices that the virtual
server state is DOWN. Which action must the administrator take to set the virtual server state to UP?

A. Set Ib vserver vsl -state UP.

B. Bind a monitor to the services.

C. Set Ib vserver vs1 -accessDown yes.

D. Bind the two services to the Ib vserver vsl.

Correct Answer: D

QUESTION 6

In which manner can an administrator configure a NetScaler device so that it can load balance external DNS servers?
A. Configure as an ADNS.

B. Configure CNAME records.

C. Configure as a DNS proxy.

D. Configure as an End resolver.

Correct Answer: C

QUESTION 7

Scenario: A banking company plans to use their NetScaler system to improve their site performance. They will use
NetScaler to direct traffic to different servers so that users accessing the mortgage page go to one set of servers, users
accessing the banking page go to a second set of servers, users applying for a student loan go to a third set of servers
and all other traffic goes to the home page. The administrator has already enabled the necessary features and bound
the appropriate services to the load balancing virtual servers. In which order could the administrator perform the actions
to define a content switching virtual server to meet these requirements?
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A. Add the content switching virtual server, add the default policy and add the other policies; then bind the load
balancing virtual server and policy to the content switching virtual server; then bind the default load balancing virtual
server to the content switching virtual server with the default policy.

B. Add the content switching virtual server, bind the load balancing virtual server to the content switching virtual server,
add a policy and bind the policy to the load balancing virtual server; then bind the default load balancing virtual server to
the content switching virtual server without associating a policy.

C. Add the policy, add the default policy, bind the policy to the load balancing virtual server, add the content switching
virtual server, bind the load balancing virtual server to the content switching virtual server; then bind the default load
balancing virtual server to the content switching virtual server with the default policy.

D. Add the named expressions, create the appropriate content switching policy and add the content switching virtual
server; bind the load balancing virtual server and policy to the content switching virtual server and then bind the default
load balancing virtual server to the content switching virtual server without associating a policy.

Correct Answer: D

QUESTION 8

Scenario: An administrator finished installing a NetScaler appliance and configured a load balancing virtual server that
has four services bound. The configured load balancing method for the virtual server is set to use least connection. The
administrator later added a fifth server to the virtual server. However, when testing load balancing, the administrator
finds that the virtual server is using round robin instead of least connection.

Why would the NetScaler system be using round robin as the load balancing method instead of least connection?

A. The administrator did not save the configuration correctly.

B. The NetScaler is using slow start mode for the virtual server.

C. Least connection will only function when more than five servers are load balanced.

D. Least connection is not a load balancing method that can be used for Web servers.

Correct Answer: B

QUESTION 9

Scenario: An administrator needs to configure services and virtual servers for connection-based content switching of
TCP traffic. The traffic must be decrypted by the NetScaler and sent as plain text to the back-end server.

Which types of services and virtual servers should the administrator configure for this environment?

A. SSL_TCP type of load balancing virtual servers, content switching virtual servers and TCP services for the
NetScaler.

B. SSL_TCP type of load balancing virtual servers, content switching virtual servers and HTTP services for the
NetScaler.

C. SSL_TCP type of content switching virtual server and TCP type services and load balancing virtual servers for the
NetScaler.
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D. SSL_TCP type of content switching virtual servers and services and TCP type of load balancing virtual servers for
the NetScaler.

Correct Answer: C

QUESTION 10

Scenario: A customer has two datacenters in geographically dispersed locations, both serving content for a web-based
application. Content for both datacenters should always be available.

Which method should an administrator use to make content from both datacenters available at all times?
A. HA

B. GSLB

C. Content switching

D. Backup load balancing virtual servers

Correct Answer: B

QUESTION 11

When planning a deployment, in which setup scenario must an administrator configure the NetScaler system as the
default router for the servers in the environment?

A. When USNIP is configured

B. In a single subnet configuration

C. In a two-arm mode configuration

D. When USIP is configured for services

Correct Answer: D

QUESTION 12

Scenario: A company has contracts with multiple ISPs and would like to use all of them for Internet connections
although some ISP routers are faster than others. The company also plans to use a NetScaler system for load balancing
and failover.

What can an administrator configure to ensure that all ISP connections are being used while avoiding retransmission or
out-of-order packets in this environment?

A. Multiple VLANSs with Ingress rules
B. Link load balancing with destination IP-based persistence

C. Round robin load balancing with reverse RNAT configured
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D. A load balancing policy with the appropriate preferred IP and preferred port parameters configured

Correct Answer: B

QUESTION 13

Which IP address type must be unique to each NetScaler in an HA pair?
A. MIP

B. NSIP

C. SNIP

D. Load balancing VIP

Correct Answer: B

QUESTION 14

The expression can be used for and . (Choose the two options that correctly complete the
sentence.)

A. caching

B. compression

C. load balancing
D. surge protection

Correct Answer: AB

QUESTION 15

Scenario: An organization has just purchased NetScaler appliances and is in the process of reconfiguring their network
environment. As a requirement, the local network administrator must set up their network environment with URL
transformations in order to modify complex URLs that are difficult to remember.

Which three steps must the administrator take to complete the URL transformation process? (Choose three.)

A. Enable the Rewrite feature.

B. Enable the Responder feature.

C. Create the URL transformation profile.

D. Create and bind a rewrite policy for HTTP requests and responses.

E. Create and bind the URL transformation policy for HTTP requests and responses.
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Correct Answer: ACE
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